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MPCOM-21

M.Phil. Examination, 2022

COMMERCE

Paper - I
(Research Methodology and Quantitative Techniques)

Time : 3 Hours | [ Maximum Marks : 100

Note .—  Attempt five questions in all, selecting one question from each Unit. All

questions carry equal marks.
Y% THE W ek UYA 1 997 I gU FK U YA & SW SIS0 | [l g
* 3% T ¥
Unit-I
(3TE-D)
1. What do you mean by Research ? Describe the different steps of research

process.
ITHYH T ? IHYH & foru Sed WM 9t fafu= =)o w1 vl Fifsw |

2. What is Research Methodology ? What are the different steps covered in

designing methodology for a research problem ?

TNY YOSl 1 © 7 Teh Y 9HE & forw ey yonelt fuiia s gua fea-feea fafis
Teell w1 wfmfaa fean s § 2
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Unit-II
FFTE-1D)
3.  What do you mean by Research Design ? Discuss the subject-matter of research

design ?

STHYH SfYheT ¥ T F S § 2 U ATHYN ATRed Hi fovEesg &1 ave
I |
4.  What is Standard Error ? Discuss its utility.
T Ffe T 2 THHT STATTQT 1 faaeE wifee |
Unit-1IT
(3ehT3-1ID)
5. (a) In a sample of 1,024 persons of Uttar Pradesh, 540 were found to be rice

eaters and the rest wheat eaters. Can we assume that both the food articles

are equally popular ? Test at 5% level of significance.

W YW & 1,024 =fFi &1 U gfaget I T TH F 540 AR =F6d @
TS q 9N g W TS 9T T F TH T TR § R QM @ SEiET 99
T H ARGA T ? 5% Welhdl TR T Si= R |

(b) 400 articles from a factory are examined and found to be 3% defective 600
similar articles from another factory are found to have only 2% defective.
Can it reasonably be concluded that the products of the first factory are
interior to those of the second ?
TF FREM &I 400 F=gsti F1 Faaon foman s €, 376 9 3% o 9 S ©
T FREM F H THR HT 600 T H§ § haadt 2% o I8 St & | F M qT
3fed w9 § frewed femren s wehat © foF YoM FR@M *t T TR FREM H
qor # wfen foee @t § 2

6. What is the Chi-Square (x?) test of goodness of fit 7 State the necessary

conditions for applying the ¥ 2-test.
S-Sl 1 HIE-7 Sid 1 & ? HE-af Siie & FAN hl SE9AH Il bl 0
FHIST |
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Unit-1IV
(FFTE-1V)
7. (a) Define ‘Operation Research’ and discuss its main characteristics.

gferan famm w1 gRefoa wIfT qen sEet gqE fasvand sy |
(b)  State different types of models used in OR. Explain.

aferen fomm # wgea fafv= gfaedt = a@emsT)

8. A and B play a game in which each has three coins : A penny, a nickel and a

dime. The penny is worth Re. one, nickel Rs. two and dime Rs. three. Each
selects a coin without the knowledge of the other’s choice. If the sum of the coins
is an odd amount, A wins B’s coin; if the sum is even, B wins A’s coin. Find the
best strategy for each player and value of the game.
T 3R o T WS Weld & (998 9% & 99 dF o ® U, fed, eea ) U e
T. &, Mot 1 T & T TEH T T & R § | YA Teenel g feeet s SHaR
% o1 we fagh &1 9@ A §1 Al faehl w1 Sie faum g et ¥ @1 A, B
et Sfiaar €, 4f Sis @9 & € @ B, A o1 foernt Sitaar 81 9o Taere! &t st
el 3R O T A 1T HIMC |

Unit-V
FHE-V)
9.  What do you understand by “Judicial allocation of limited resources” ? Discuss
the role and limitations of linear programming approach.
e e & gl oTeed’ ¥ e = TEed § 7 Yeid wriwd ufaty & ofies
T | gu FifS |
10. Two products X, and X, are processed on three machines A, B and C. The
processing time per unit, machine availability and profit per unit are as follows :
& S’ X, T X, & wwE A, B w6 C 1 Hera ¥ TR 3 9 € ufd g om
FTA T THA, AT Bl ST TH YA THE A I THR T
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Machine Processing Time Availability

(Hours) (Hours)
X, X,
A 2 3 1500
B 3 2 1500
C 1 1 1500

Profit per unit ¥ 10, ¥ 12.

Formulate an appropriate linear programming model for this problem and solve
it by Simplex Method. Also state the shadow prices per hour in respect of
machines A, B and C.

T IEET & U U SugEa 3@ WnfET Aee GaR wifee qun 39 fameem fafy!
T 7 HiSCl A, B g C B0 1 qfq 5021 WS Higal w1 ft oo Hifeg |
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